

Description:

## PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/17/2025 9:51:09 PM

**General Details** 

 Parcel ID:
 380-0010-02672

 Document:
 Torrens - 1083648.0

**Document Date:** 09/17/2024

Legal Description Details

Plat Name: GRAND LAKE

Section Township Range Lot Block

13 51 16 -

PART OF LOT 4 LYING E OF CENTER SECTION LINE AND N OF S 248 FT

Taxpayer Details

Taxpayer Name THOMPSON FAMILY CABIN LLC

and Address: 5979 BIRCH POINT RD

5979 BIRCH POINT RD SAGINAW MN 55779

Owner Details

Owner Name THOMPSON FAMILY CABIN LLC

Payable 2025 Tax Summary

2025 - Net Tax \$8,493.00

2025 - Special Assessments \$2,139.00

2025 - Total Tax & Special Assessments \$10,632.00

### **Current Tax Due (as of 12/16/2025)**

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$5,316.00	2025 - 2nd Half Tax	\$5,316.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$5,316.00	2025 - 2nd Half Tax Paid	\$5,316.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

**Property Address:** 5979 BIRCH POINT RD, SAGINAW MN

School District: 704

Tax Increment District: 
Property/Homesteader: -

Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
204	0 - Non Homestead	\$185,600	\$491,200	\$676,800	\$0	\$0	-			
207	0 - Non Homestead	\$22,800	\$60,500	\$83,300	\$0	\$0	-			
	Total:	\$208,400	\$551,700	\$760,100	\$0	\$0	8251			



# PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/17/2025 9:51:09 PM

**Land Details** 

Deeded Acres: 3.10 Waterfront: **CARIBOU** Water Front Feet: 720.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc: Sewer Code & Desc: Lot Width: 0.00 Lot Depth: 0.00

The dim

	dimensions shown are no s://apps.stlouiscountymn.ç						Tax@stlouiscountymn.gov.
			Improve	ment 1 D	etails (HOUSE	)	
ı	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	HOUSE	1998	1,9	17	2,973	-	2S - 2 STORY
	Segment	Story	Width	Length	Area	Found	ation
	BAS	0	0	0	379	FOUND	ATION
	BAS	0	4	22	88	FOUND	ATION
	BAS	1	13	13	169	FOUND	ATION
	BAS	2	8	24	192	FOUND	ATION
	BAS	2	18	48	864	FOUND	ATION
	Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
	2.75 BATHS	2 BEDROOM	MS	-		1	C&AC&EXCH, PROPANE
			Improven	nent 2 De	tails (AG 24X2	8)	
ı	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	GARAGE	1998	67	2	672	-	ATTACHED
	Segment	Story	Width	Length	Area	Found	ation

	improvement 2 Details (AG 24X28)										
l	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.				
	GARAGE	1998	67	2	672	=	ATTACHED				
	Segment	Story	Width	Length	Area	Foundat	ion				
	BAS	0	24	28	672	FOUNDATION					

	Improvement 3 Details (DG 24X56)									
Improvement Type Year Built		Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
	GARAGE	1984	1,34	14	1,344	-	DETACHED			
	Segment	Story	Width	Length	Area	Foundati	on			
	BAS	1	24	24	576	FLOATING	SLAB			
	BAS	1	24	32	768	FLOATING	SLAB			

Improve	ment Type	Year Built	Main Flo	<b>-</b> . •				
		i cai built	wain Fig	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
BOAT	HOUSE	1999	40	0	400	-	-	
	Segment	ment Story W		Vidth Length	h Area	Founda	tion	
	BAS	1	20	20 400		FLOATING	SLAB	
Batl	Bath Count Bedroon		ount Room		ount	Fireplace Count	HVAC	



# PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/17/2025 9:51:09 PM

		Improve	ement 5 D	etails (HOUSE	i)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
HOUSE 0		676		676	-	1S - 1 STORY	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	26	26	676	FOUNDATION		
CW	1	10	16	160	PIERS AND FOOTINGS		
DK	1	10	10	100	POST ON GR	ROUND	
Bath Count	Bedroom Cou	ınt	Room C	Count	Fireplace Count	HVAC	
2.25 BATHS	3 BEDROOM	S	-		- S	TOVE/SPCE, PROPANE	
		Improveme	ent 6 Deta	ails (SLAB PA	ΓΙΟ)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
	0	1,10	03	1,103	-	PLN - PLAIN SLAB	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	0	0	0	1,103	-		

#### Sales Reported to the St. Louis County Auditor

No Sales information reported.

		As	sessment Histor	ry			
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
	204	\$185,600	\$511,600	\$697,200	\$0	\$0	-
2024 Payable 2025	207	\$22,800	\$63,000	\$85,800	\$0	\$0	-
,	Total	\$208,400	\$574,600	\$783,000	\$0	\$0	8,538.00
	204	\$170,100	\$444,600	\$614,700	\$0	\$0	-
2023 Payable 2024	207	\$20,900	\$54,600	\$75,500	\$0	\$0	-
·	Total	\$191,000	\$499,200	\$690,200	\$0	\$0	7,378.00
	204	\$139,700	\$498,100	\$637,800	\$0	\$0	-
2022 Payable 2023	Total	\$139,700	\$498,100	\$637,800	\$0	\$0	6,723.00
	204	\$119,000	\$418,300	\$537,300	\$0	\$0	-
2021 Payable 2022	Total	\$119,000	\$418,300	\$537,300	\$0	\$0	5,466.00

#### **Tax Detail History**

		Special	Total Tax & Special		Taxable Building	
Tax Year	Tax	Assessments	Assessments	Taxable Land MV	MV	Total Taxable MV
2024	\$7,817.00	\$2,093.00	\$9,910.00	\$191,000	\$499,200	\$690,200
2023	\$7,487.00	\$2,033.00	\$9,520.00	\$139,700	\$498,100	\$637,800
2022	\$6,901.00	\$1,973.00	\$8,874.00	\$119,000	\$418,300	\$537,300



## PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 12/17/2025 9:51:09 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.